T LocATION DIAGRAM |
(For. TRIM S 2 |-
A %ﬁlENE%

O-2Z THREADS

p—t

gL

e g A
A e FLAT 4
£ o3 SH P
D me,“ FLAT &
| E, =1 OVAL 4
| 5 4" OVALL &
| é Z

(& ) OUAL

MGA WINDSCREEN ASSEMBLY

N w
o s

| N W
SNNNOSOS

-
w
nN

TRIM SCREWS

léoa_dster Interior
AEE CAR.CATA -
(BEEHLRE

CONTENTS OF F80 SCREW KIT

#4 x 5/8" screws. Oval hd. F27a & F45
#4 x 3/8" screws. Oval hd. F27
#6 (with #4 hd.) x 5/8" screws
Oval hd. F20 & F37
#8 x 3/4" screws. Oval hd. F17
#8 x 5/8" screws. Oval hd. F28
#4 finishing washers. F27a & F45
#6 x 1/2" screws. Truss hd. F45
#10 flat. washers. F44
#10 locking washers. Fé44
#10 hex nuts. F&44
#10 (with #8 hd.) machine screws. F44 & F43

Total pcs.

VIEW FROM RIGHT %IDE



